Hypothesis Testing about a Proportion Large Sample

52% of newborn babies are boys as claimed by pediatric doctors around the world. A sample of
1000 births indicate that 508 were boys. Use the 5% level of significance to test this claim.



Create Your Decision Rule by determining your critical value(s).
Approximate the critical value(s) to the nearest hundredths.

TI-83 or TI-84 Plus Finding the z vaue corresponding to a known area.

1. Press 2" then vars to access DISTR (distributions) menu.
2. Select InvNorm and click enter.
3. Enter the area, mean u, enter the standard deviation g, tail.

4, Paste.
InvNorm
area: 0.95
u:0
o:1
Tail: Center
%3 Texas INSTRUMENTS TI-84 PIus CE ¥ Texas Instruments TI-84 Plus CE
invNorm(.95,@,1,CENTER)
area: .95 {71.959963986 1.9599639861}
H:O [ |
o:1
Tail: LEFT [=YQiSy RIGHT
Paste
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Compute your Test Statistic.
Approximate your test statistic to the nearest hundredths.

TI-84 Plus CE

1. Press STAT, then select TESTS in the top menu.

2. Select 1-PropZTest in the menu and press ENTER.

3. Enter the claimed population proportion p,, number of successes x, sample size n. For prop
select the format used for the alternate hypothesis.

4. Calculate
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Draw your conclusion.
Either the sample supports the claim, or the sample does not support the claim.



The proportion of college students who take a full load is not 40% as claimed by Professor
Snodgrass. A sample of 420 college students reveal that 172 enrolled in at least 12-units (full
load). Use the 10% level of significance to test this claim.



Create Your Decision Rule by determining your critical value(s).
Approximate the critical value(s) to the nearest hundredths.

TI-83 or TI-84 Plus Finding the z vaue corresponding to a known area.

1. Press 2" then vars to access DISTR (distributions) menu.
2. Select InvNorm and click enter.
3. Enter the area, mean u, enter the standard deviation g, tail.

4. Paste.
InvNorm
area: 0.90
u:0
o1
Tail: Center
i3 TEXAS INSTRUMENTS TI-84 Plus CE V %3 TEXAS INSTRUMENTS TI-84 Plus CE
invNorm(.9@.0,1,CENTER)
area: .90 {71.644853626 1.644853626}
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Compute your Test Statistic.
Approximate your test statistic to the nearest hundredths.

TI-84 Plus CE

1. Press STAT, then select TESTS in the top menu.

2. Select 1-PropZTest in the menu and press ENTER.

3. Enter the claimed population proportion p,, number of successes x, sample size n. For prop
select the format used for the alternate hypothesis.

4. Calculate
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Draw your conclusion.
Either the sample supports the claim, or the sample does not support the claim.



At least 64% of college students believe Big Foot is real as claimed by a Sociologists professor. A
sample of 400 college students reveal that 252 believe Big Foot is real. Use the 1% level of
significance to test this claim.



Create Your Decision Rule by determining your critical value(s).
Approximate the critical value(s) to the nearest hundredths.

TI-83 or TI-84 Plus Finding the z vaue corresponding to a known area.

1. Press 2" then vars to access DISTR (distributions) menu.
2. Select InvNorm and click enter.
3. Enter the area, mean u, enter the standard deviation g, tail.

4, Paste.
InvNorm
area: 0.01
u:0
o:1
Tail: Left
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invNorm(.©1,0,1,LEFT)
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Compute your Test Statistic.
Approximate your test statistic to the nearest hundredths.

TI-84 Plus CE

1. Press STAT, then select TESTS in the top menu.

2. Select 1-PropZTest in the menu and press ENTER.

3. Enter the claimed population proportion p,, number of successes x, sample size n. For prop
select the format used for the alternate hypothesis.

4. Calculate
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Draw your conclusion.
Either the sample supports the claim, or the sample does not support the claim.



The proportion of individuals who take the second dose of the Covid-19 vaccine is more than 92%
as indicated by Public Health Officials. A sample of 1200 individuals who have taken the first does
reveal that 998 received the second does. Use the 1% level of significance to test this claim.



Create Your Decision Rule by determining your critical value(s).
Approximate the critical value(s) to the nearest hundredths.

TI-83 or TI-84 Plus Finding the z vaue corresponding to a known area.

1. Press 2" then vars to access DISTR (distributions) menu.
2. Select InvNorm and click enter.
3. Enter the area, mean u, enter the standard deviation g, tail.

4, Paste.
InvNorm
area: 0.01
u:0
o1
Tail: Right
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invNorm(.91,0,1,RIGHT)
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Compute your Test Statistic.
Approximate your test statistic to the nearest hundredths.

TI-84 Plus CE

1. Press STAT, then select TESTS in the top menu.

2. Select 1-PropZTest in the menu and press ENTER.

3. Enter the claimed population proportion p,, number of successes x, sample size n. For prop
select the format used for the alternate hypothesis.

4. Calculate
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Draw your conclusion.
Either the sample supports the claim, or the sample does not support the claim.



The proportion of college students that take 4-years to complete a bachelor’s degree is no more
than 12% as claimed by Campus Researchers. A sample of 500 college students indicate that 72
completed a bachelor’s degree in 4 years. Use the 5% level of Significance to test this claim.



Create Your Decision Rule by determining your critical value(s).
Approximate the critical value(s) to the nearest hundredths.

TI-83 or TI-84 Plus Finding the z vaue corresponding to a known area.

1. Press 2" then vars to access DISTR (distributions) menu.
2. Select InvNorm and click enter.
3. Enter the area, mean u, enter the standard deviation g, tail.

4. Paste.
InvNorm
area: 0.05
u:0
o1
Tail: Right
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invNorm(.95,0,1,RIGHT)
area:.DS 1.644853626.
H:0
o:1
Tail: LEFT CENTER [2efcisHI
Paste

statplot f1 tblset f2 format f3 calc f4 table f5 statplot f1 tblset f2 format f3 calc f4 table f5
[ y= ] [window] [zoom] [trace] [graph] [ y= ] [window] [zoom] [trace] [graph]




Right Tail Test

Do Not Reject |

Ho

Reject

0 1.645
Compute your Test Statistic.
Approximate your test statistic to the nearest hundredths.

TI-84 Plus CE

1. Press STAT, then select TESTS in the top menu.

2. Select 1-PropZTest in the menu and press ENTER.

3. Enter the claimed population proportion p,, number of successes x, sample size n. For prop
select the format used for the alternate hypothesis.

4. Calculate
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Draw your conclusion.
Either the sample supports the claim, or the sample does not support the claim.



At least 35% of insomnia sufferers who are treated with Zopiclone have increased their sleep
time significantly as claimed by a Drug Manufacturer. A sample of 120 Insomnia sufferers who
were treated with Zopiclone indicate that 42 increased their sleep time significantly. Use the 10%
level of significance to test this claim.



Create Your Decision Rule by determining your critical value(s).
Approximate the critical value(s) to the nearest hundredths.

TI-83 or TI-84 Plus Finding the z vaue corresponding to a known area.

1. Press 2" then vars to access DISTR (distributions) menu.
2. Select InvNorm and click enter.
3. Enter the area, mean u, enter the standard deviation g, tail.

4, Paste.
InvNorm
area: 0.10
u:0
o1
Tail: left
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Compute your Test Statistic.
Approximate your test statistic to the nearest hundredths.

TI-84 Plus CE

1. Press STAT, then select TESTS in the top menu.

2. Select 1-PropZTest in the menu and press ENTER.

3. Enter the claimed population proportion p,, number of successes x, sample size n. For prop
select the format used for the alternate hypothesis.

4. Calculate
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Draw your conclusion.
Either the sample supports the claim, or the sample does not support the claim.



